

ON POLYNOMIALS ASSOCIATED TO PRODUCT AND COMPOSITION OF GENERATING FUNCTIONS

MOULOUD GOUBI

To the memory of Prof. Mohamed Zitouni

ABSTRACT. In this paper, we introduce a generalized family of numbers and polynomials of one or more variables attached to the formal composition $f.(g \circ h)$ of generating functions f, g and h . We give explicit formula and apply the obtained result to two special families of polynomials; the first concerns generalization of some polynomials applied to the theory of hyperbolic differential equations recently introduced and studied by M. Mihoubi and M. Sahari. The second concerns two variables Laguerre-based generalized Hermite-Euler polynomials introduced and should be updated to studied recently by N. U. Khan et al..

1. INTRODUCTION

As a new tradition, many people are interested by numbers and polynomials having applications on the hyperbolic differential equations, combinatorics, physics and engineering sciences. In the literature there is numerous works on polynomials and their generalizations. We invite the reader to consult [1, 2, 11, 12, 13] and references therein. Let

$$f(t) = \sum_{n \geq 0} f_n \frac{t^n}{n!}, \quad g(t) = \sum_{n \geq 0} g_n \frac{t^n}{n!} \quad \text{and} \quad h(t) = \sum_{n \geq 0} h_n \frac{t^n}{n!}$$

three known formal exponential generating functions of numbers or polynomials of one or more variables. We consider the generating function $f(t)g \circ h(t) = \sum_{n \geq 0} L_n^{(f,g,h)} \frac{t^n}{n!}$ in order to compute explicit formula of $L_n^{(f,g,h)}$. For showing the importance of this generalization we study two kinds of polynomials. The first concerns polynomials dealing with the theory of hyperbolic differential equations recently introduced by M. Mihoubi and M. Sahari (see [10]); where we reproof the explicit formula therein. The second deals with three variables Laguerre polynomials investigated in the work [9] where we give the explicit formula too. It is well-known that the derivative at order n of the composition $g \circ h$ is given by Faà di Bruno formula:

$$(1) \quad (g \circ h)^{(n)}(t) = \sum_{k=1}^n B_{n,k} \left(h^{(1)}(t), \dots, h^{(n-k+1)}(t) \right) g^{(k)} \circ h(t),$$

Date: September 8, 2022.

2020 Mathematics Subject Classification. 05A15, 11B73.

where $B_{n,k} := B_{n,k}(x_1, x_2, \dots)$ (see [3]) are exponential partial Bell polynomials given by

$$(2) \quad B_{n,k}(x_1, x_2, \dots) = \frac{n!}{k!} \sum_{\pi_n(k)} \binom{k}{k_1, \dots, k_{n-k+1}} \prod_{r=1}^{n-k+1} \left(\frac{x_r}{r!}\right)^{k_r},$$

with $\pi_n(k)$ is the set of all $(k_1, \dots, k_{n-k+1}) \in \mathbb{N}^{n-k+1}$ such that $k_1 + \dots + k_{n-k+1} = k$ and $k_1 + 2k_2 + \dots + (n-k+2)k_{n-k+2} = n$. $B_{n,k}$ are generated by the function

$$(3) \quad \frac{1}{k!} \left(\sum_{m \geq 1} x_m \frac{t^m}{m!} \right)^k = \sum_{n \geq k} B_{n,k}(x_1, x_2, \dots) \frac{t^n}{n!}.$$

According to polynomials $B_{n,k}$; the series expansion of the composition $g \circ h$ on neighborhood of zero is given by the following lemma, the proof is left as a sample exercise for the reader.

Lemma 1.1.

$$(4) \quad g \circ h(t) = g(h_0) + \sum_{n \geq 1} \sum_{k=1}^n B_{n,k}(h_1, h_2, \dots) g^{(k)}(h_0) \frac{t^n}{n!}.$$

For $g(t) = t^\alpha$, the corresponding expression of $g \circ h$; if $h_0 \neq 0$ is given in the work [7]. We remember that the Cauchy product (see [6]) of f and g is

$$(5) \quad f(t)g(t) = \sum_{n \geq 0} \left(\sum_{k=0}^n \binom{n}{k} f_k g_{n-k} \right) \frac{t^n}{n!}.$$

With the combination of identity (4) Lemma 1.1 and the identity (5), the following theorem holds.

Theorem 1.2. *We have $L_0^{(f,g,h)} = g(h_0)f_0$ and for $n \geq 1$:*

$$(6) \quad L_n^{(f,g,h)} = g(h_0)f_n + \sum_{k=1}^n \sum_{i=1}^k \binom{n}{k} f_{n-k} B_{k,i}(h_1, \dots, h_{k-i+1}) g^{(i)}(h_0).$$

Consequently we have

Corollary 1.3. *If $h_0 = 0$, we have $L_0^{(f,g,h)} = g_0 f_0$ and*

$$(7) \quad L_n^{(f,g,h)} = g_0 f_n + \sum_{k=1}^n \sum_{i=1}^k \binom{n}{k} f_{n-k} g_i B_{k,i}(h_1, \dots, h_{k-i+1}).$$

2. APPLICATION TO SEQUENCES OF POLYNOMIALS LINKED TO THE SEQUENCE OF BELL POLYNOMIALS.

Recently M. Mihoubi and M. Sahari (see [10]) studied polynomials $L_n^{(\alpha,\beta)}(x)$ defined by means of the generating function

$$(8) \quad (1-t)^\alpha \exp\left(x\left((1-t)^\beta - 1\right)\right) = \sum_{n \geq 0} L_n^{(\alpha,\beta)}(x) \frac{t^n}{n!}$$

and proved that

$$(9) \quad L_n^{(\alpha,\beta)}(x) = \sum_{i=0}^n S_{\alpha,\beta}(n,i) x^i,$$

where

$$S_{\alpha,\beta}(n,i) = \frac{1}{i!} \sum_{j=0}^i (-1)^{i-j} \binom{i}{j} \langle -\alpha - \beta j \rangle_n$$

and $\langle \alpha \rangle_n = \alpha(\alpha+1) \cdots (\alpha+n-1)$, which admits the reformulation $\langle \alpha \rangle_n = (-1)^n (\alpha)_n$; with $(\alpha)_n = \alpha(\alpha-1) \cdots (\alpha-n+1)$ is a falling number. In this section we prove this formula by using advanced algebraic combinatorics; our method is different of that given in [10] based on the Theorem [14, th. 7.50]. First we begin by an improvement of [10, Proposition.1]. Letting

$$f(t) = (1-t)^\alpha = \sum_{n \geq 0} (-1)^n (\alpha)_n \frac{t^n}{n!}$$

$$g(t) = e^t = \sum_{n \geq 0} \frac{t^n}{n!}$$

and

$$h(t) = x\left((1-t)^\beta - 1\right) = \sum_{n \geq 1} (-1)^n (\beta)_n x \frac{t^n}{n!}.$$

Then

$$f(t)g \circ h(t) = (1-t)^\alpha \exp\left(x\left((1-t)^\beta - 1\right)\right)$$

and $L_n^{(f,g,h)} = \mathbb{L}_n^{(\alpha,\beta)}(x)$. Thereafter

$$f_n = (-1)^n (\alpha)_n, \quad g_n = 1, \quad h_0 = 0 \text{ and } h_n = (-1)^n (\beta)_n x.$$

The exponential partial Bell polynomials implicated in the expression of $\mathbb{L}_n^{(\alpha,\beta)}(x)$ are

$$B_{k,i} \left((-1)^1 (\beta)_1 x, (-1)^2 (\beta)_2 x, \dots \right) = \frac{k!}{i!} x^i (-1)^k B_{k,i} \left((\beta)_1, (\beta)_2, \dots \right).$$

By means of Theorem 1.2, the following theorem holds.

Theorem 2.1.

$$(10) \quad L_n^{(\alpha,\beta)}(x) = (-1)^n (\alpha)_n + \sum_{k=1}^n \sum_{i=1}^k \binom{n}{k} (-1)^n (\alpha)_{n-k} B_{k,i} \left((\beta)_1, (\beta)_2, \dots \right) x^i.$$

Remark 2.2. For $i > k$, only we have $B_{k,i} = 0$. Then the expression (10) Theorem 2.1 can be written in the form

$$(11) \quad L_n^{(\alpha, \beta)}(x) = (-1)^n (\alpha)_n + \sum_{k=1}^n \sum_{i=1}^n \binom{n}{k} (-1)^n (\alpha)_{n-k} B_{k,i} ((\beta)_1, (\beta)_2, \dots) x^i.$$

This formula is important, it helps us to prove [10, Proposition.1].

Now with the following lemma we give explicit formula of exponential partial Bell polynomials $B_{k,i}((\beta)_1, (\beta)_2, \dots)$.

Lemma 2.3.

$$(12) \quad B_{k,i}((\beta)_1, (\beta)_2, \dots) = \frac{1}{k!} \sum_{j=0}^k \binom{k}{j} (-1)^{k-j} (\beta j)_n.$$

Proof. From the definition of exponential partial polynomials $B_{k,i}((\beta)_1, (\beta)_2, \dots)$, we have

$$\frac{1}{k!} \left((1+t)^\beta - 1 \right)^k = \sum_{n \geq k} B_{n,k}((\beta)_1, \dots, (\beta)_{n-k+1}) \frac{t^n}{n!}$$

but

$$\left((1+t)^\beta - 1 \right)^k = \sum_{j=0}^k \binom{k}{j} (1+t)^{\beta j} (-1)^{k-j}$$

and

$$\frac{1}{k!} \left((1+t)^\beta - 1 \right)^k = \frac{1}{k!} \sum_{n \geq 0} \sum_{j=0}^k \binom{k}{j} (-1)^{k-j} (\beta j)_n \frac{t^n}{n!}.$$

Furthermore we conclude that

$$B_{k,i}((\beta)_1, (\beta)_2, \dots) = \frac{1}{k!} \sum_{j=0}^k \binom{k}{j} (-1)^{k-j} (\beta j)_n$$

□

According to identity (12) Lemma 2.3, the expression of $L_n^{(\alpha, \beta)}(x)$ becomes

$$(13) \quad L_n^{(\alpha, \beta)}(x) = (-1)^n (\alpha)_n + \sum_{k=1}^n \sum_{i=1}^n \sum_{j=0}^i \binom{n}{k} \binom{i}{j} \frac{1}{i!} (-1)^{n+i-j} (\beta j)_k (\alpha)_{n-k} x^i.$$

For $k = 0$ we have

$$\sum_{i=1}^n \left(\sum_{j=0}^i \binom{i}{j} (-1)^{i-j} \right) \frac{1}{i!} x^i = 0,$$

the above expression of $L_n^{(\alpha, \beta)}(x)$ becomes

$$(14) \quad L_n^{(\alpha, \beta)}(x) = (-1)^n (\alpha)_n + \sum_{k=0}^n \sum_{i=1}^n \sum_{j=0}^i \binom{n}{k} \binom{i}{j} \frac{1}{i!} (-1)^{n+i-j} (\beta j)_k (\alpha)_{n-k} x^i.$$

To write

$$L_n^{(\alpha, \beta)}(x) = \sum_{i=0}^n S_{\alpha, \beta}(n, i)x^i$$

we must prove the following lemma

Lemma 2.4.

$$(15) \quad S_{\alpha, \beta}(n, i) = \frac{1}{i!} \sum_{k=0}^n \sum_{j=0}^i \binom{n}{k} \binom{i}{j} (-1)^{n+i-j} (\beta j)_k (\alpha)_{n-k}.$$

Proof. We have $S_{\alpha, \beta}(n, 0) = \langle \alpha \rangle_n = (-1)^n (\alpha)_n$. Since

$$(-1)^n \sum_{k=0}^n \binom{n}{k} (\beta j)_k (\alpha)_{n-k} = (-1)^n (\alpha + \beta j)_n = \langle -\alpha - \beta j \rangle_n$$

and according to the identity (14) the result follows. □

3. APPLICATION TO TWO VARIABLE LAGUERRE POLYNOMIALS

Laguerre polynomials $\mathbb{L}_n(x, y)$ are defined by the generating function (see [4])

$$(16) \quad \frac{1}{1-yt} \exp\left(\frac{-xt}{1-yt}\right) = \sum_{n \geq 0} \mathbb{L}_n(x, y)t^n,$$

which is equivalent (see [5]) to

$$(17) \quad \exp(yt) C_0(xt) = \sum_{n \geq 0} \mathbb{L}_n(x, y) \frac{t^n}{n!},$$

where

$$C_0(xt) = \sum_{n \geq 0} \frac{(-1)^n x^n t^n}{n! n!}.$$

Then

$$\exp(yt) C_0(xt) = \sum_{n \geq 0} \sum_{k=0}^n \binom{n}{k} \frac{(-1)^k x^k y^{n-k} t^n}{k! n!}.$$

Finally the identity proved in [9] follows.

$$(18) \quad \mathbb{L}_n(x, y) = \sum_{k=0}^n \binom{n}{k} \frac{(-1)^k x^k y^{n-k}}{k!}$$

The generating function of $\mathbb{L}_n(x, y)$ is written under the form

$$\frac{1}{1-yt} \exp\left(\frac{-xt}{1-yt}\right) = f(t)g \circ h(t);$$

where

$$f(t) = \frac{1}{1-yt} = \sum_{n \geq 0} n! y^n \frac{t^n}{n!},$$

$$g(t) = e^t = \sum_{n \geq 0} \frac{t^n}{n!}$$

and

$$h(t) = \frac{-xt}{1-yt} = - \sum_{n \geq 0} xy^n t^{n+1} = - \sum_{n \geq 1} n! xy^{n-1} \frac{t^n}{n!}.$$

Furthermore $f_n = n!y^n$, $g_n = 1$, $h_0 = 0$ and $h_n = -n!xy^{n-1}$. According to identity (7) Corollary 1.3, we have already proved the following theorem

Theorem 3.1. *we have $\mathbb{L}_0(x, y) = 1$ and for $n \geq 1$;*

$$(19) \quad \mathbb{L}_n(x, y) = y^n + \sum_{k=1}^n \sum_{i=1}^k \frac{1}{k!} (-x)^i y^{n-i} B_{k,i}(1!, \dots, (k-i+1)!).$$

To obtain the identity (18) we must compute $B_{k,i}(1!, \dots, (k-i+1)!)$. In the first view L. Comtet (see Identity [3h] [3, Theorem B p.135]) obtained the following result

$$B_{k,i}(1!, \dots, (k-i+1)!) = \binom{n-1}{k-1} \frac{n!}{k!}.$$

Here we give another reformulation of this identity. In one hand, we have

$$\frac{1}{k!} \left(\sum_{m \geq 1} t^m \right)^k = \sum_{n \geq k} B_{n,k}(1!, 2!, \dots, (n-k+1)!) \frac{t^n}{n!}.$$

In another hand we have

$$\frac{1}{k!} \left(\sum_{m \geq 1} t^m \right)^k = \frac{1}{k!} \left(\frac{t}{1-t} \right)^k = \frac{t^k}{k!} \sum_{n \geq 0} (-1)^n (-k)_n \frac{t^n}{n!}.$$

After little calculation, we will have

$$\frac{1}{k!} \left(\sum_{m \geq 1} t^m \right)^k = \sum_{n \geq 0} \binom{n}{k} (-1)^{n-k} (-k)_{n-k} \frac{t^n}{n!}.$$

But we know that

$$(-k)_n = (-1)^n \frac{(k+n-1)!}{(k-1)!}.$$

Finally we have

$$(20) \quad B_{k,i}(1!, \dots, (k-i+1)!) = \binom{n}{k} \frac{(n-1)!}{(k-1)!}.$$

Returning back to identity (19) under Theorem 3.1 and after substitution we obtain

$$\mathbb{L}_n(x, y) = y^n + \sum_{k=1}^n \sum_{i=1}^k \frac{1}{k!} (-x)^i y^{n-i} \binom{k}{i} \frac{(k-1)!}{(i-1)!},$$

which can be written in the form

$$\mathbb{L}_n(x, y) = y^n + \sum_{i=1}^n \sum_{k=i}^n (-x)^i y^{n-i} \frac{(k-1)!i}{(i!)^2(k-i)!}.$$

By using the well-known Hockey-stick identity we have

$$\sum_{k=i}^n \frac{i(k-1)!}{(k-i)!} = i! \sum_{k=i}^n \binom{k-1}{i-1} = i! \sum_{k=i-1}^{n-1} \binom{k}{i-1} = i! \binom{n}{i} = \frac{n!}{(n-i)!}.$$

Hence

$$\mathbb{L}_n(x, y) = n! \sum_{i=0}^n \frac{(-x)^i y^{n-i}}{(i!)^2(n-i)!}.$$

Sometimes we are concerned by generating functions of the form $f.(g \circ h).(v \circ w)$ which contains four operations; two products and two compositions. Let $v(t) = \sum_{n \geq 0} v_n \frac{t^n}{n!}$, $w(t) = \sum_{n \geq 0} w_n \frac{t^n}{n!}$ and $L_{n,v,w}^{(f,g,h)}$ be the sequence generated by $f.(g \circ h).(v \circ w)$. According to identity (4) Lemma 1.1, we will have:

$$v \circ w(t) = v(w_0) + \sum_{n \geq 1} \sum_{k=1}^n B_{n,k}(w_1, w_2, \dots) v^{(k)}(w_0) \frac{t^n}{n!}.$$

Let $G(t) = g \circ h(t)v \circ w(t)$, then $G(0) = g(h_0)v(w_0)$ and by means of Cauchy product of generating functions we have

$$\begin{aligned} G(t) = G(0) + \sum_{n \geq 1} \left(\sum_{k=1}^{n-1} \binom{n}{k} \sum_{i=1}^k B_{k,i}(h_1, h_2, \dots) g^{(i)}(h_0) \sum_{i=1}^{n-k} B_{n-k,i}(w_1, w_2, \dots) v^{(i)}(w_0) \right) \frac{t^n}{n!} \\ + g(h_0) \sum_{n \geq 1} \sum_{i=1}^n B_{n,i}(w_1, w_2, \dots) v^{(i)}(w_0) \frac{t^n}{n!} \\ + v(w_0) \sum_{n \geq 1} \sum_{i=1}^n B_{n,i}(h_1, h_2, \dots) g^{(i)}(h_0) \frac{t^n}{n!}. \end{aligned}$$

Writing $G(t) = \sum_{n \geq 0} G_n \frac{t^n}{n!}$, so $G_0 = g(h_0)v(w_0)$ and for $n \geq 1$ we have

$$\begin{aligned} G_n = \sum_{k=1}^{n-1} \binom{n}{k} \sum_{i=1}^k \sum_{j=1}^{n-k} B_{k,i}(h_1, h_2, \dots) B_{n-k,j}(w_1, w_2, \dots) g^{(i)}(h_0) v^{(j)}(w_0) \\ + g(h_0) \sum_{i=1}^n B_{n,i}(w_1, w_2, \dots) v^{(i)}(w_0) \\ + v(w_0) \sum_{i=1}^n B_{n,i}(h_1, h_2, \dots) g^{(i)}(h_0) \end{aligned}$$

Finally by means of Cauchy product of generating functions, we have

$$L_{s,v,w}^{(f,g,h)} = \sum_{n=0}^s \binom{s}{n} f_{s-n} G_n.$$

Hence

$$\begin{aligned}
& L_{s,v,w}^{(f,g,h)} = f_s g(h_0) v(w_0) \\
& + \sum_1 \binom{s}{n} \binom{n}{k} f_{s-n} B_{k,i}(h_1, h_2, \dots) B_{n-k,j}(w_1, w_2, \dots) g^{(i)}(h_0) v^{(j)}(w_0) \\
& \quad + g(h_0) \sum_2 \binom{s}{n} f_{s-n} B_{n,i}(w_1, w_2, \dots) v^{(i)}(w_0) \\
(21) \quad & \quad + v(w_0) \sum_2 \binom{s}{n} f_{s-n} B_{n,i}(h_1, h_2, \dots) g^{(i)}(h_0),
\end{aligned}$$

where

$$\sum_1 = \sum_{n=0}^s \sum_{k=1}^{n-1} \sum_{i=1}^k \sum_{j=1}^{n-k} \quad \text{and} \quad \sum_2 = \sum_{n=0}^s \sum_{i=1}^n.$$

Recently, Khan, N. U. et al. introduced and studied Laguerre-based generalized Hermite-Euler polynomials ${}_L H^{E_s[\alpha, m-1]}(x, y, z)$ (see [9]); these are generated by the function

$$\left(\frac{2^m}{e^t + \sum_{n=0}^{m-1} \frac{t^n}{n!}} \right)^\alpha e^{yt+zt^2} C_0(xt) = \sum_{s \geq 0} {}_L H^{E_s[\alpha, m-1]}(x, y, z) \frac{t^s}{s!}.$$

and provide that (see [9, Theorem 2.3])

$${}_L H^{E_s[\alpha, m-1]}(x, y, z) = \sum_{r=0}^s E_{s-r}^{[m-1]} {}_L H^{E_s[\alpha-1, m-1]}(x, y, z),$$

where the numbers $E^{[m-1]}$ are generated by the function

$$\left(\frac{2^m}{e^t + \sum_{n=0}^{m-1} \frac{t^n}{n!}} \right)^\alpha = \sum_{s \geq 0} E^{[m-1]} \frac{t^s}{s!}.$$

The generating function of ${}_L H^{E_s[\alpha, m-1]}(x, y, z)$ obeys to the form below. One writes

$$\left(\frac{2^m}{e^t + \sum_{n=0}^{m-1} \frac{t^n}{n!}} \right)^\alpha e^{yt+zt^2} C_0(xt) = f(t) (g \circ h(t)) (v \circ w(t)),$$

with

$$\begin{aligned}
f(t) &= C_0(xt) = \sum_{n \geq 0} \frac{(-1)^n x^n t^n}{n! n!}, \\
h(t) &= \frac{e^t + \sum_{n=0}^{m-1} \frac{t^n}{n!}}{2^m} = \frac{1}{2^m} \left(2 \sum_{n=0}^{m-1} \frac{t^n}{n!} + \sum_{n \geq m} \frac{t^n}{n!} \right),
\end{aligned}$$

$g(t) = t^{-\alpha}, v(t) = e^t$ and $w(t) = yt + zt^2$. Thus $f_n = \frac{(-1)^n x^n}{n!}, h_n = 2^{-m+1}$ for $n \leq m - 1$ and $h_n = 2^{-m}$ for $n \geq m, v_n = 1, w_0 = 0, w_1 = y, w_2 = x$ and $w_n = 0$ for $n \geq 3$. Then

$$\begin{aligned} {}_L H^{E_n[\alpha, m-1]}(x, y, z) &= \frac{(-1)^s x^s}{s!} 2^{(m-1)\alpha} \\ &+ \sum_1 \binom{s}{n} \binom{n}{k} \frac{(-1)^{s-n} x^{s-n}}{(s-n)!} 2^{(\alpha+i)(m-1)} (-\alpha)_i B_{k,i}(h_1, h_2, \dots) B_{n-k,j}(y, z, 0 \dots) \\ &\quad + 2^{(m-1)\alpha} \sum_2 \binom{s}{n} \frac{(-1)^{s-n} x^{s-n}}{(s-n)!} B_{n,i}(y, z, 0 \dots) \\ &\quad + \sum_2 \binom{s}{n} \frac{(-1)^{s-n} x^{s-n}}{(s-n)!} 2^{(\alpha+i)(m-1)} (-\alpha)_i B_{n,i}(h_1, h_2, \dots). \end{aligned}$$

We have

$$B_{n,i}(y, z, 0, \dots) = \frac{n!}{i!} \sum_{\substack{i_1+i_2=i \\ i_1+2i_2=n}} \binom{i}{i_1, i_2} y^{i_1} z^{i_2} = \frac{n!}{i!} \sum_{j=0}^i \binom{i}{j} y^{n-2j} z^j.$$

and

$$B_{n,i}(h_1, h_2, \dots) = \frac{n!}{i!} \sum_{\pi_n(i)} \binom{i}{i_1, \dots, i_{n-i+1}} \prod_{r=1}^{n-i+1} \left(\frac{h_r}{r!}\right)^{i_r}$$

If $n - i + 1 \leq m - 1$ we have

$$B_{n,i}(h_1, h_2, \dots) = 2^{-i(m-1)} B_{n,i}(1, 1, \dots) = 2^{-i(m-1)} S(n, i).$$

If $n - i + 1 \geq m$ we have

$$B_{n,i}(h_1, h_2, \dots) = \frac{n!}{i!} 2^{-im} \sum_{\pi_n(i)} \binom{i}{i_1, \dots, i_{n-i+1}} \prod_{r=1}^{m-1} \left(\frac{2}{r!}\right)^{i_r} \prod_{r=1}^{n-i+1} \left(\frac{1}{r!}\right)^{i_r}.$$

Otheriwise we have

$$\binom{s}{n} \binom{n}{k} \frac{1}{(s-n)!} \frac{(n-k)!}{i!} \binom{i}{j} = \frac{s!}{((s-n)!)^2 k! j! (i-j)!}$$

and

$$\binom{s}{n} \frac{1}{(s-n)!} \frac{n!}{i!} \binom{i}{j} = \frac{s!}{((s-n)!)^2 j! (i-j)!}.$$

Then we have already proved the following theorem.

Theorem 3.2.

$$\begin{aligned}
\frac{{}_L H^{E_n[\alpha, m-1]}(x, y, z)}{s!} &= \frac{(-1)^s x^s}{(s!)^2} 2^{(m-1)\alpha} \\
&+ \sum_1 \sum_{j=0}^i \frac{(-1)^{s-n} 2^{(\alpha+i)(m-1)} (-\alpha)_i}{((s-n)!)^2 k! j! (i-j)!} B_{k,i}(h_1, h_2, \dots) x^{s-n} y^{n-k-2j} z^j \\
&+ 2^{(m-1)\alpha} \sum_2 \sum_{j=0}^i \frac{(-1)^{s-n}}{((s-n)!)^2 j! (i-j)!} x^{s-n} y^{n-2j} z^j \\
(22) \quad &+ \sum_2 \frac{(-1)^{s-n} 2^{(\alpha+i)(m-1)} (-\alpha)_i}{n! ((s-n)!)^2} B_{n,i}(h_1, h_2, \dots) x^{s-n}.
\end{aligned}$$

4. CONCLUSION

Using algebraic operations on generating functions such as multiplication and composition, we can build a large family of polynomials as extensions of well-known polynomials in the literature. In this work we are interested by numbers and polynomials generated by functions of the forms $f.(g \circ h)$ and $f.(g \circ h).(v \circ w)$; where f, g, h, v and w are generating functions and we use Bell polynomials to give the explicit formulae. The obtained results are applied to two kinds of polynomials. The first concerns polynomials dealing with the theory of hyperbolic differential equations recently introduced and investigated by M. Mihoubi and M. Sahari; where we give another proof of the explicit formula therein. The second deals with two variables Laguerre polynomials and Laguerre-based generalized Hermite-Euler polynomials investigated by N. U. Khan et al.; where we give the explicit formula too. These families are only an example of infinitely many numbers and polynomials generated by functions of types $f.(g \circ h)$ and $f.(g \circ h).(v \circ w)$.

REFERENCES

- [1] Boussayoud A., Boughaba S., *On Some Identities and Symmetric Functions for k-Pell sequences and Chebychev polynomials* Online Analytic Combinatorics Journal. 14 (2019) 1–13.
- [2] Boussayoud A., Kerada M., Araci S., Acikgoz M. and Esi A., *Generating Functions of Binary Products of Fibonacci and Tchebyshev Polynomials of first and second kinds* Filomat. 33 (2019), 1495–1504.
- [3] Comtet L., *Advanced Combinatorics* D. Reidel Publishing Company, 1974.
- [4] Dattoli G., Torre A., *Operational methods and two variable Laguerre polynomials* Atti Accad. Sci. Torino Cl. Sci. Fis. Mat. Natur. 132 (1998), 3–9.
- [5] Dattoli G., Torre A. and Mancho A. M., *The generalized Laguerre polynomials, the associated Bessel functions and applications to propagation problems* Radiation Physics and Chemistry 59 (2000), 229–237.
- [6] Goubi M., *Successive derivatives of Fibonacci type polynomials of higher order in two variables* Filomat 32 4 (2018), 5149–5159.
- [7] Goubi M., *A new class of generalized polynomials associated with Hermite-Bernoulli polynomials* J. Appl. Math. & Informatics 38 3-4 (2020), 211–220.

- [8] Goubi M., *On polynomials associated to product and composition of generating functions* (accepted).
- [9] Khan, N. U., Usman T., and Khan W. A., *A new class of Laguerre-based generalized Hermite-Euler polynomials and its properties* Kragujevac Journal of Mathematics, 44(1) (2020), 89–100.
- [10] Mihoubi M., Sahari M., *On some polynomials applied to the theory of hiperbolic differential equations* Online journal of Analytic Combinatorics, 15 (2020), 1–18.
- [11] Saba N., Boussayoud A., Viswanadh K. and Kanuri V., *Mersenne Lucas numbers and complete homogeneous symmetric functions* Journal of Mathematics and Computer Science, 24 2 (2022), 127–139.
- [12] Srivastava H. M., Özarslan M. A. and Yasar B. Y., *Difference equations for a class of twice-iterated Δ_h -Appell sequences of polynomials*, RACSAM, Rev. R. Acad. Cienc. Exactas Fís , 113 (2019), 1851–1871.
- [13] Srivastava H. M., Arjika S. and Sherif Kelil A., *Some homogeneous q -difference operators and the associated generalized Hahn polynomials*, Appl. Set-Valued Anal. Optim., 1 (2019), 187–201.
- [14] Stromberg K. R., *Introduction to classical real analysis*, Wadsworth, inch., California (1981).

EXCEPT WHERE OTHERWISE NOTED, CONTENT IN THIS ARTICLE IS LICENSED UNDER A CREATIVE COMMONS ATTRIBUTION 4.0 INTERNATIONAL LICENSE.

DEPARTMENT OF MATHEMATICS, UMMTO UNIVERSITY, 15000 KRIM BELKACEM, TIZI-OUZOU, ALGERIA,
LABORATORY OF ALGEBRA AND NUMBERS THEORY, USTHB ALGIERS
Email address: mouloud.goubi@umt.dz